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Job order and process costing.

Aaliiy) Jahally sals¥) Cillss ol
Learning Objectives :dsaslaill Cilaa¥)
1. Distinguish between job order costing and process costing.ialiy) dabally jals¥) Callss (s ¢y ol
2. Record materials and labor in a job order costing system als¥! Call<s sy say)y sl Jaass
3. Record overhead in a job order costing systemauatity! )V Calls alany Zdlay) Cayliadl) Juad
4. Record completion and sales of finished goods.

Al Caylad) Jraadl Glaiilly of 3aL30L (555l cilyguilly & Lually 2l 2 LY ls Al 2 Y1 Jiass .4

The first learning objective is to distinguish between job order costing and process costing
Al Jabally el S faldal e Bl 1Y) easadl) Ciagd)
Cost accounting systems accumulate cost information so that managers can measure how much it
costs to produce each unit of merchandise. These unit costs help managers:

o328 . langll e Bany IS0 Claial) 465 Clutia) e e haal) ae b Lay 2l e glae 8aS) oy il allas s,
tele ehaall ae i duaaal) dail)

» Set selling prices that will lead to profits—iagiuall zeyyl) (3iail AadU aud) el yyaa

e Compute cost of goods sold for the income statementJaall 4ailds Lealadiny debiall chlas gl 48l Glusial

* Compute the cost of inventory for the balance sheet Il S ll 4408 JaY el 4a<s Glaaal

If a manager knows the cost to produce each product, then the manager can plan and control the
cost of resources needed to create the product and deliver it to the customer.

) Alads miial) Z Y Lgialas pa A 3lsal) LS 15l o peiSar peld cite JSI itall A ¢ paall Cape 13)
s laxd)

A cost accounting system assigns these costs to the company’s product or service.
RPPRYSS A laaddly leann Al claiidl e 4581 CallSs jaady callall aUas

» For companies that manufacture » For companies that produce
batches of unique products or identical units through a series of
specialized services processes

o Accounting firms o Large producer of similar
o Music studios goods

o Building contractors » Accumulates cost of each process
o Health-care providers needed to complete the produce

P Accumulates cost per batch or job

»  More prevalent with service-based
economies and ERP systems

Job Order Costing Process Costing
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i i JaiS saa o ali) el of dady IS Cadlall oS)
Loy bt Aalaily 4 ardll sV @i sl

ERP Enterprise Resource &g diall 3)se

Planning

Some companies manufacture batches of unique products or specialized services. A job order
costing system accumulates costs for each batch, or job. Accounting firms, music studios, health-care
providers, building contractors, and furniture manufacturers are examples of companies that use job
order costing systems. For example, Dell makes personal computers based on customer orders (see
the “Customize” button on Dell’s Web site).

AaliY) 5alg¥) Al culSyall andis Uiy jaaial) cleadd] §f 830alll colatiall e clady aalald ClSHEN (an
Lol ol dady JS AU CluaaY Al

Dell 48, cciliis il xivae o lidl Jylie hpmaall claddll et ¢ligssall o soinsd danslaall lS 5 1l
Dell 48,4 adse Ao "@hlall st 5 A5 ad) odendl llh e slaeWl addll 55l sial g
(s aS)

Other companies produce identical units through a series of production steps or processes.
A process costing system accumulates the costs of each process needed to complete the product.
This method is used primarily by large producers of similar goods.

i ol L) lleal) G pag Aaiall Clangl) G e Alas Culaia it A AN ey Sl G b
cdaball Callss aUas aadiug o8 cllily Ley aludl)
il s JSy i Al Alage S GRS oS Jalal) CallSs oUss
Both job order and process costing systems: (udull<il) ¢pallail) S
¢ Accumulate the costs incurred to make the product.G_ﬁd\ aial Lglas) 5 Al calsal) r,S\J:,
* Assign costs to the productsculaiidl e Callill aiady
1. Which of the following companies would most likely use a job order cost system?
¢ alg¥) CallSs Ui axdivn of Ylaial ST LGN AN e

A. A consulting firm | B. An oil refinery C. Detergent manufacturer D. Paper mill
)yl 4S5 Jot slian lilaia diias sl pias
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2. Which of the following companies would most likely use a process cost system?
¢Ualyall CallSs ol aaiiny of Vsl Sl 4000 GISHEN G ol

A. Health care provider | B. Real estate broker

C. Building contractor D. Cereal manufacturer

Gaaaall cilessl) asie

Sl ki sl ailak

W8

3. Which of the following companies would not use job order costing?

¢ el Call€s alas axding Y A0 S e ol

A. A lawn maintenance company | B. A legal firm | C. An auto repair shop | D.A beverage manufacturer
Glaa Gl 4835 Al 48,5 Sl pealast L S pilad

4. Which of the following is an example of an industry that would use a process costing system
rather thana job order costing system?

¢Jalyall

Calls Ui axdiy of Ylaal ST 40N A e

A. Custom furniture manufacturer B. Unique furniture accessories manufacturer C. Paint manufacturer D. Aircraft manufacturer

Al Caa S i

ap ol liale i U il

Glyilda ailak

5. Job order costing is most likely used in which of the following industries?

Al cleliall e sl patiing of Ylaal F€1 el Y1 Call<s

A.Pharmaceutical manufacturing

B. Textbook publishing

C. Chemical manufacturing

D. Food and beverage manufacturing

c._\\)i}e\a.b@.hai

¢Jalyall

6. Which of the following companies is most likely to use job order costing?

Calls alai aadiiy of Ylaa) ST A6 Sl e

A. Swenson Mobil Qil Refinery

B. Hunter’s Custom Furniture Company

Lasi 3laiaa

M\w&ﬁ%kﬁ

C. Oliver Chemical Company

D. Somody Cereal Company

R Clatia 38,0

Gl piail a8 )4

Accountants use cost tracing to assign directly traceable costs, such as direct materials and direct
labor, to the product. They use a technique—cost allocation—to assign manufacturing overhead and
other indirect costs to the product. Let’s see how a job order costing system works for a

manufacturing company.

B ¥y bl dsall Jia 838l leait Jenw 1) ISl (Gand) Japyl A i g splaall ardiy
il e @AY ol (e Wyt AalaY) Leliall Gl al — (il panadt 46 (i
Ao lia 450 3 5elsY) (ol AU Jamy (S (o5l i) 3as 5y gl
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The second learning objective is to record materials and labor in a job order costing system.

Flow of costs

Ledger Account

Job1

Job Cost Record

Work in Process Inventory

Finished goods inventory

Direct materials

Costs

Costs of Completed

—
Direct labor incurred Job 1
Manufacturing overhead In Job ,
Cost of g’oods sold
Costs of Completed
Job1l
R : JalsH) s AUy Jaally Slpal) (a1 I sl g
il gdas
S Call&s Ja
o ) (ke Adye [ dedill ] Adlya [
1 &) L)
Sl Cadlsl & A Gl 8l Jsa
il Jaidl) <+ (1) VG Leleas - il ysal
\ Adls) iyl
W R
(1) Y il
tl,\; Lodic
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The job order costing system tracks costs as raw materials moved from the storeroom to the
production floor to finished products. This illustration diagrams the flow of costs through a job order
costing system.

) il Gl ) ) e cafpan A ) cadlsall Ay Ayl alsY) Callss Ll
(el laiiall
b)) CallSs las DA CallSall 335 maa gy gl Jaladd) 13
Let us consider how a manufacturer uses job order costing. Often, each customer order is a
separate job.
el CallSs Gl adiad) aadig Ca (L) el Liges
A job cost record is used to accumulate the costs of each job’s:
(i Lt el 0585 05 Aulle IS (6 Wle
¢ Direct materials

¢ Direct labor
¢ Manufacturing overhead

(Adla) Caplias yilie el il dge) i ol JS0 Cadlall Ayl ) CallSs Jans 22800
The company starts the job cost record when work begins on the job. As costs are incurred, the
company adds costs to the job cost record.

Jaaal Callall Capat 2580 (o Cadlsal) Jaad iy Lallay 5 2l fas Lavie ) CadlSs Jasy 38500 fas
) sy

For jobs started but not yet finished, the job cost records show the Work in process inventory.
AT G55l dmy el G Jan (b cany Bpioail Lgililae o5 ol LS Ly sl 35 ) el JaY
CJadnl) st 3ol

When a job is finished, the company totals the costs and transfers costs from Work in process

inventory to Finished goods inventory. When the job’s units are sold, the costing system moves the
costs from Finished goods inventory, an asset, to Cost of goods sold, an expense.

e s ) Jaodil) cand 2 1) 48 ilis (o Lela iy LS ant A58 () 5aY) piisi ¢ty Latie
(438) ¢ b o
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When materials are purchased, an entry is made debiting the Materials inventory account and
crediting Accounts payable (if purchased on credit).

Ll 500 cload) foag Lpva dlsall (5550 Aihe [ Jany ity 2l (8 dlgall sy o) Ladic afgeal) ¢

(Plaad) e @ el G k)
Materials inventory is a general ledger account. Most companies use a subsidiary ledger for
materials.

gall delise M aasius SN adane o) cale 3l Clus 5o Jsall 580 Clua
The subsidiary materials ledger includes a separate record for each type of material.
Ngall (g Jaai JSU Aliine Jsin ac Lusall algal) 2l 48Uy panals

The balance of the Materials inventory account in the general ledger should always equal the sum of
the balances in the subsidiary materials ledger.

ae L) sall il 8 ) aladd slse (55K oF cang alall J0uY) 8 Ssd) ()535% [a duay

GENERAL JOURNAL

DATE DESCRIPTION REF DEBIT CREDIT

Materials inventory

Accounts payable

Asall 05330 Adlya [

2l clleall fa )

Subsidiary Materials Ledger Card

Item No. Description
Date Received Used Balance
Units Cost Total Units Cost Total Units Cost Total
Purchases

ce=l il Bl sy Canall dadia 8 52l dlgd) ) iy

e losall 3 gall Bl ddl,
tCaall ipalall o8
Aua)yll bl 2yl
C\_I‘)m\
Qa8 s LS dad g LS Qag s LS
(-2)
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When materials are used, direct material costs go directly into the Work in process inventory
account. Indirect materials are debited to Manufacturing overhead. Materials inventory is reduced
for the amount of materials taken from storage.

eJundill caat 2 ) eiaa fa ) 8l aali 5alall dgall CallSs (8 algall aladiul 2 Ledie talgall aladdied
gl Caplaad) Gluas A Jeai 3800 e algal) Cadl<s Ll

AT e ST 25 Sl gl A jlaey iy sall 35

GENERAL JOURNAL
Date DESCRIPTION REF DEBIT CREDIT
Work in process inventory (Direct Materials)
Manufacturing overhead (Indirect Materials)
Materials inventory
(E)ul_m A\}A) (LULNJS,' vort | ISP Ct\.\‘\ 4.\5\),« /A %)
(580 e p0) Alia) Capjlacan 4idlya [/
Asall (59380 Al /o )
Materials Ledger
Item No. Description
Date Received Used Balance
Units Cost Total Units Cost Total Units Cost Total
Requisitioned
ae Lal) ol gl Saud 48Uy
aasll ipalall o8
Aua)yll bl 2yl
C\_I‘)m\
Qad e LS Qg L S PN gL LS
(<)
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For both direct materials and indirect materials, the production team completes a document called a
materials requisition to request the transfer of materials to the production floor.

Material Requisition No.

Date

Job No.

Item Number

Item

Quantity

Unit Cost

Amount

oo ) et e JeSiu Z Y b G B8kl e dsalls pdlaall alsall) Guesill DS Jal (e
) gl ) sl Jas Callal (o5

..... e§) A\)Ag_'vmiﬂm

....... tady sl eyl el
:&A:\s]\ L_i).\an_: Ehjj\ L &sﬁ z\zmﬁ\ A_QAJS\ eg) .J.ul\

Materials Inventory

Work in process

Material Purchases

Direct Materials

-— | Direct Materials

PIndirect Materials

/ Manufacturing overhead
Indirect materials ‘

o) s ) Ada [

B8l 2lpe

A sl T ol ) clilual) <=

Ssall (35350 e [

5ydlie 2pa Asall il
5ydlia £ so
LY o Al [
Sydlia § s

el alasilg oy Slm ally M) Gllea DA Sl Gis il (adly
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A job cost record is shown here. It assigns the cost of the direct materials, direct labor, and

manufacturing overhead to a job

Job Cost Record

Job No.

Customer Name and Address

Job Description

Date Promised Date Started Date Completed
Date Direct Materials Direct Labor Overhead Costs Applied
Requisition NO | Amount Time TicketNO | Amount Date Rate Amount
Overall Cost Summary
Materials
Labor
Overhead
Total Total Job Cost
LY 51 ALY Capliaall iyl et il alsall CallSs (anads jaY) CallSs dilay i
A QS Ja
) )
alsic s danll pnl
il ) Gy
el Fu)ls cadl gy e il eyl
Alaaal) A8LaY) iy jlaal) Spdilall sad) Spiiliall algal) o
i) e e e sl g, i) i
ypall
L) sl adle
e
sl
ikl .o
A s )
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Accounting for Labor

/ Manufacturing overhead
[

ndirect Labor |

sy e dsalaal)

Manufacturing Wages Work in process
Incurred Direct Labor Direct Materials
—|_> Direct Labor
__—T"Indirect Labor

dadtll s ) Aga [

BYNUEFIWN

Sdlso dse B S e P ETR

Tl Y

8ile sal

ALy Caladll 28l [

A

il st el '|

| $iba st sl

T-accounts demonstrate how labor costs flow through the accounts. When manufacturing wages
are incurred, the account is debited. When labor costs are allocated between direct and indirect
portions, the direct costs increase Work in process, while the indirect costs increase Manufacturing

overhead.

gl Clea 35 5800 Sl g Qabal ey salal Cpadl) Gn deall DS a5 o Lavies line il
ALy Callall a5 spilaall e CallSEl) ol cpa 8 cJril caas

GENERAL JOURNAL

Date DESCRIPTION REF

DEBIT

CREDIT

Manufacturing wages

Wages payable

| Includes both direct and indirect labor |

e

(Raw) Lpeluall Hsal) Adh [ o

(+alll) diaidl ) /o

DAL ey 5l el G ey
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GENERAL JOURNAL

Date DESCRIPTION REF DEBIT CREDIT

Work in process inventory

Manufacturing overhead

Manufacturing wages

‘ Zeroes out Manufacturing wages accounts ‘

GD5SAe (e
(il sal) dasuil) caas 1) 4lye /o
3yile e sal) ddlia) Cayyliae 435 /o
palia S )9 ) e

Lelial paY) Adha ja Y

Accounting for labor costs requires the company to:
e assign labor cost to individual jobs

e transfer labor cost out of the Manufacturing wages account and into Work in process inventory
(for direct labor) and into Manufacturing overhead (for indirect labor)

to 3Ll e Jaadl paie e dualaall (il

syl el e Jaal) QS5 13368

sl g (sp3bal) sa¥) daill cad £l gsiae fa I debiall Hal) Glia ge Jeal) 2S5 J8
(Bralall e 55 JaY) Lilay) delual)

This journal entry zeroes out the Manufacturing wages account and shifts the labor cost to the Work
in process and Manufacturing overhead accounts.

Jiill izl Ghlea ) Jeall QS Jiigy Leliall Y] Clas dwaghy o oaulaall 138
Ly de licall Callsalls
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The third learning objective shows how to record overhead in a job order costing system
1 alg¥) i alas B ASLaY) iy laal) Jupad 1B addail) Ciagd)

GENERAL JOURNAL

Date DESCRIPTION REF DEBIT CREDIT

Manufacturing overhead

Accumulated depreciation

Manufacturing overhead

Cash

Manufacturing overhead

Property taxes payable

ALY Caplad) Kl /2 (e
Dla¥) gena [= )
ALY Caglad) Kl /2 (e
Al /= )

ALY Caladl Xl /2 e
ERNNE RN I A

All manufacturing overhead costs are accumulated as debits to a single general ledger account—
Manufacturing overhead.

Cayylaall Adlye [ s aaly Sl Cluad o) Caplally Jad el Callss ol 8 daliay) Cadlall JS

Al
In addition to indirect materials and indirect labor, companies incur several types of overhead costs.
The first entry records any depreciation on the manufacturing plant and its assets.

feliall Gl Gl Glual) g Lo Gau SAlly 53lall sue Hsalls apiliall e dsall ) 232U
il Agily laaall @DUa) Jansy Jo¥1 28l Aleay) CallSall (e saame Jaladl Jaas

The second entry is for any cash outlay for overhead costs, such as utilities or repairs.
ey Al L Jie Tai de shaally giadll 8 il $pilall e Capliadll dal e 300 2l

The third entry records property taxes on the factory land, building, and plant assets.

cadl Jsaaly AN caiadl (o)l e de ol ALl il Jay Bl a8l

https://manara.edu.sy/



https://manara.edu.sy/

\ /
\/

o)li_aJl

Assigning Manufacturing Overhead to Jobs

(0Bl algl o AdL&Y) iy jlaal) pasads
Actual overhead costs are debited to the Manufacturing overhead account
Overhead costs are essential to production
Must be assigned to specific jobs to determine full cost
A predetermined overhead rate is used

gladl) ALY Ciylaall Cilosny Aie Abedl) ALY Cayload) 4S5 s

v v v Vv

B Ll A b Al Caglsall
IS AGIS) (L) aail sadae yalsl e (anads of caay

Lodie 3a3n0 Jrand OV ane Aladiind 2y D

v v Vv

Actual overhead costs are accumulated on the debit side of the Manufacturing overhead
account in the accounting records. But how do overhead costs get assigned to individual jobs?

Sy Auladll EBal AdlaY) Lelbiall caplad) Clua (o Gpaall uiladl Zaladl) ddlay) callal) oS) 5
5.2 8kl LaaliY) el S Capliaall o3 (anads 2 cas

Overhead includes a variety of costs that the company cannot trace to individual jobs. For
example, it is impossible to say how much of the cost of plant utilities is related to a specific job
Yet manufacturing overhead costs are as essential as direct materials and direct labor, so

overhead costs need to be assigned to specific jobs. Otherwise, each job would not bear its fair
share of the total cost.

O dinisdll e JBaS bajite ol sV g A58 i ¥ A CallSEl) (pa eyt Adla) Cayliad) (anans
ana el Al Ao liall ¢ LyeSl CallSs e o Lo Jisis

leanadil dalay ai 5)3la) ¥y @pilall sl Jia lebia Lpull 2aliaY) deliall Caplad) & Wil
IS AR (pe Jolall Agnaty i el JS Jeaty PIPRRXERY el )

Predetermined Manufacturing Overhead Rate
Total estimated manufacturing overhead costs

Total estimated quantity of the manufacturing overhead allocation base

Primary cost driver of overhead costs ‘

Al AELY) A lial) Callall laa)

i = Ladie soasall 48l Cayyliadl Juant <V ane
Al A lial) Capliad) Jsand Gulasl (g Ayl Laell) Jles) §

GV Janll Gl Ll Jaall ZS5 ¢ il Jandl el Jie i) Clall A4S dlyae ulad S8
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The most accurate allocation can be made only when total overhead cost is known—and that is not
until the end of the year. But managers cannot wait that long for product cost information. So the
predetermined overhead rate is calculated before the year begins.

aladl Ll Sa dgmge e Mg —Hdgyra A0S AdLaY) (oIS )5S Ladie a3 o oSy BN Ganasl
&y pdie 415 Jrand Jare (13 coriiall CallSs Clasbes JaY Alshal) saall sda HUSY) seadiinn ¥ sl o<1
s Ay J alua)

Then throughout the year, companies use this predetermined rate to allocate estimated overhead
cost to individual jobs.

Juzl) yall Sle 3yadall byl Al ayial Lodie 2aaall 28l Jane PG Gl Gl Al A Waasyg

RAPEIA|
The key to assigning indirect manufacturing costs to jobs is to identify a workable manufacturing
overhead allocation base.

Al dpelia Cayylan Jread bl G g Jaail )A\j Slo sl e deliall CallSill 4yl - Gaal)
The allocation base is a common denominator that links overhead costs to the products.

claiid) e ddlay) Callsall Jayy el fidia anli g8 Jaeatl) (b
Ideally, the allocation base is the primary cost driver of manufacturing overhead—that is, the more

“allocation base,” the more overhead costs and vice-versa. As the phrase implies, a cost driver is the
primary factor that causes (drives) a cost.

Sl e el "peadl) Gull' (e paed) Al Capliaall V5l 4605 G ne sa Juanill Culasd o e J<
Sally el ALY
A Gy I3 Jale sa Al e Bl ALl 5ylal) Cuape LS
Traditionally, manufacturing companies have used:
¢ Direct labor hours (for labor-intensive production environments)

¢ Direct labor cost (for labor-intensive production environments)
e Machine hours (for machine-intensive production environments)

s Caadiid e luall @l (Ll
(Jendl e 5850 cld abiy) @l Sabadl Jeadl Glelu o
() Jardl e 5850 cld aliy) cilinll) abad) Jead) 4S5 @
(V) dead) e 38 e Laliy) clill) V) Jeall el o

Allocate Overhead Costs to Jobs

Allocated manufacturing | = | Predetermined overhead x Actual quantity of allocation base
overhead cost application rate used on the job

Jeead Jare X Ll V0 aasindll Jueadll ulad e dgdadl) 2l =Aleadll ddlaY) deliall ikl
Ladis adaall Caglsall

Jeaatll (bl e Agdadll B0l Capmy okl ) Jamad) Gl Jeitll algl e ddlay) cadlall ayysl
PPN g WREG N
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cehinin el UK

Accounting for Assignment of Overhead to Jobs

GENERAL JOURNAL

Date DESCRIPTION REF DEBIT CREDIT

Work in process

Manufacturing overhead

Once the amount of overhead applied to each job is computed, the amount is added to the job cost

cards. The journal entry to record the assignment of overhead has a debit to Work in process and a
credit to Manufacturing overhead.

AT gl () ALY T JpanT o Apulaal
Jiaill ciai oY) Aidlya [ (o

Alaadll Ciplad ddle /2 )
el ) A6 Ay Y Gl Al o (b ¢ i Ll JS o dlay) GallSal) anats 2 Wlla
Gopladlfa 4y (Jail) cind U Adhe [ g s GlaY) Ciplad) J8 Jadl aladl ad)

Alaadl) 4l
Accounting for Manufacturing Overhead

Actual Overhead Costs Work in process

Actual overhead costs overhead allocated Direct Materials

Direct Labor

overhead allocated

Jsotill ) Adlye [ Lilay) deliall Capload) 4 /o
Jeotil) cans 2l Ay fa of Badl | 1/1 20a) /, leaall Cayjladll Adadl) LAl Cayladll
L peinal) RS Aty lpae cadly | ySLall olsall A )

Adlale @dbe sl @pdle dse | sl ) /

y
1PN Aleaall dglaay) Capliadl

Actual overhead costs are debited to the Manufacturing overhead account. Overhead allocated to

specific jobs is debited to Work in process and credited to Manufacturing overhead. Notice that
Work in process has debits for the three product costs.

s 3arme yalsY Aleaall Cayyliadl Laglay) deliall oSl CGlua 8 Lae i Adadl) 4Ly ol
il ol fa ol LaY LAl Leliall Copliadl/a & A3y cJardill cad z ) ddhe /a8 A
(Alens Bdla) RIS 3yl poal cipiloe ope) TP ital) S Y Tpe ufy el
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The fourth learning objective is to record completion and sales of finished goods
Oball i (Jraadl) 3abi) pasgady cligudlly doliadl clasglly AlaiCal) clangll Juad bl canleill Ciagl)

ABLaY) G jlaall Jaans

GENERAL JOURNAL

Date

DESCRIPTION REF DEBIT CREDIT

Finished goods

Work in process

Accounts receivable

Sales revenue

Cost of goods sold

Finished goods

To record the completion of a job, the cost of the job is transferred from Work in process to Finished
goods. Finished goods is debited and Work in process is credited. When a job is sold, two entries are
needed. The first is to record the sale at the retail price. The second transfers the cost from the
Finished goods inventory to Cost of goods sold.

(~daal) iy e Jarnl) cant 2 ) Al o o(+daal) Aiae i 2l LY o3l

sl a3 £ 6 Bda [

OB ot oy tall die
el s el Jans 1 J5Y) 2l

ad) clleall [a o

el 3 [

Al ZhHaY) ad ¢ S Al

5 2 e Al fa Y
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Accounting for Finished Goods

Work in Process Work in process
Direct Materials Cost of Goods Cost of Goods Cost of Goods Sold
Direct Labor Manufactured — | Manufactured
Manufacturing overhead
allocated

/
Cost of Gogd‘s/SoId

Cost of Goods Sold “T~

These T-accounts show the flow of costs through the accounts. When a job is completed, the
amount is transferred from Work in process to Finished goods. When a job is sold, its cost is
transferred to the Cost of goods sold account.

Al z ) pjlae Al [ ezl ) Adle [
&l ol £ ) AHSS [ ga o) Jsf sy aall Gl ) s sad) Jsf aua)
RN ) e e
\ - )l sl
\ e

\

£l ) s o N\
>

5 5] (ln

cabbiall fa callsall 335 clilaall sda el
A ) [a ) daedall st 2 Y s e J3ad il Gl ¢ eY) JSy Levie
g Ll Sl LY A< s ) J3ad 48085 (8 5] 5 Ly Levie
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Exercise:

a. Incurred and paid Web site expenses, $2100.

b. Incurred and paid manufacturing wages, $17000 .

c. Purchased materials on account, $15000.

d. Used in production: direct materials,$9000 ; indirect materials,$1500.

e. Assigned of manufacturing labor to jobs, 55% of which was direct labor and 45%

of which was indirect labor.

f. Recorded manufacturing overhead: depreciation on plant, $11000; plant insurance,

$1000; plant property tax, $4100 (credit Property tax payable).

g. Allocated manufacturing overhead to jobs, 160% of direct labor costs.

h. Completed production, $32000 .

i. Sold inventory on account, $24000 ; cost of goods sold, $16000.

GENERAL JOURNAL
DATE DESCRIPTION REF DEBIT CREDIT
Advertising expense 2,100
(a)
Cash 2,100
Manufactu ring wages 17,000
(b)
Cash 17,000
Materials inventory 15,000
()
Accounts payable 15,000
Work in process 9,000
(d) Manufacturing overhead 1,500
Materials inventory 10,500
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Work in process 9,350
(e) Manufacturing overhead 7,650
Manufactu ring wages 17,000
Manufacturing overhead 16,100
Accumulated depreciation 11,000
(f)
Prepaid insurance 1,000
Property taxes payable 4,100
Work in process 14,960
(® , i ot 0
Manufacturing overhead($9,350 Direct labor x 160%) 14,960
Finished goods 32,000
(h)
Work in process 32,000
Accounts receivable 24,000
Sales revenue 24,000
(i)
Cost of goods sold 16,000
Finished goods 16,000
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1. When is the Materials inventory account decreased?

Salall O93oen wlus (aksss wiy (Gw

A.When materials are purchased B. When freight-in is paid
Aol el @iy Lo Ja ol Jadl silaas ads @iy Ledie
C. When materials are used in production D. In any of the above situations
A (R P PWES I J PNETS el =l e 6l

2. Which of the following increase(s) the Work in Process account?

A. Direct materials used B. Direct labor assigned to jobs
EPRES IR (I IM YN ol Lapmzll 5, 4001 542
C. Manufacturing overhead allocated to production D. Any of the above
Z W daimsel) 2Ly o IS G Laa (g

3. Indirect materials used in production are charged to which account?

S bue) Lbeases o2 7 LWL Aoaadl 3,801 e ool

A. Materials inventory B. Work in process C. Manufacturing overhead | D. Indirect costs

Mol (955 Jodd) e 7 8lsYl caylall syaldl e o IS

4. Which account holds labor costs until they are allocated between direct and indirect labor?

Syl abg Byale seal Ul Leansel o G 92¥ AT Lasmy bl (30 gl

A. Wage expense B. Manufacturing labor C. Work in process D. Manufacturing overhead

BYPCY I PYOPON deliall H9o Jeaadll cos 7 L) 43y Caylall

5. Which of the following is debited to the Manufacturing overhead account?

LaLaY! cinlall Glus 3 lode 5ld) o 2 bluxdl o &

A. Payroll taxes on the factory building B. Indirect labor

piall s Braldl a2 2!

C. Depreciation on manufacturing equipment D. All of the above

puall Slaas clzal G Lo (S

6. The predetermined overhead application rate is based upon:

e deiay Lo suzll Ca Sl Juames Joae

A. actual overhead costs incurred during the period B. actual direct labor hours worked

sall UM 2aaill dlaall 2alaY! il Llaall Jeadl olela

C. estimated overhead costs and an estimated allocation base | D. machine hours used in production

Epetas Jramms ulasly & pyaiall 2L oIS MY Jee olela

7. Which of the following is a common cost driver used as an overhead allocation base?
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A. Direct labor hours B. Machine hours C. Direct labor cost D. All of the above
il el eslelu Y Jee alelu saldl Jeatl 25185 G lo S
Specialty Wood Products company had the following manufacturing labor related transactions last month:
Woodworkers' wages $100,000
Indirect laborers’ wages $20,000
Maintenance personnel wages $10,000

What is the journal entry to record the incurrence of these wages?

Manufacturing wages 130,000
Wages payable (cash) 130,000
What is the journal entry to record the assignment of these wages?
Work in process inventory 100,000
Manufacturing overhead 30,000
Manufacturing wages 130,000

Which of the following entries would be made to record the use of $10,000 of direct materials and $5,000

of indirect materials by Jake's Custom Furniture?

Work in process inventory 10,000
Manufacturing overhead 5,000
Materials inventory 15,000

Which of the following entries would be made to assign $10,000 of manufacturing labor to jobs, 70% of

which was direct [abor and 30% of which was indirect labor?

Work in process inventory 7,000
Manufacturing overhead 3,000
Manufacturing wages 10,000

The Hemingway Company uses a job order costing system. In April, material requisitions of $44,000 were
issued (direct materials, $40,000) and materials purchases of both direct and indirect materials totaled
$56,600. The ending balance in materials inventory was $18,400. What was the beginning raw materials
balance?

Answer: $5,800

What entries would be made to record the purchase of $20,000 of raw materials on account for Jake's

Custom Furniture?

Raw materials inventory 20,000

Accounts payable 20,000
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Wall Corporation’s selected cost data for July is shown below:

Cost of goods manufactured $420,000
Work in process inventory, July 1 $100,000
Work in process inventory, July 31 $120,000
Direct materials used $50,000

Manufacturing overhead is allocated at 50% of direct labor cost.

What are the total manufacturing costs for July?

July TMC = WIP end + CGM — WIP beg =120,000 + 420,000 — 100,000 = 440,000

What was the amount of direct labor incurred in July?

TMC =DM +DL + Allocated MOH 440,000 = 50,000 + DL + 0.5 DL
1.5DL=390,00 DL =260,000

Potts Company uses a job costing system and had the following data available for 2009.

Materials purchased on account $75,000
Materials requisitioned (includes $2,000 of indirect materials) $43,000
Direct labor incurred $75,000
Manufacturing overhead incurred $95,000
Cost of goods completed $226,750
Cost of goods sold $138,000
Beginning materials inventory $15,000
Beginning work in process inventory $32,000
Beginning finished goods inventory $31,000
Predetermined manufacturing overhead rate
125%

(as a percent of direct labor cost)

The journal entry to record the total materials placed into production would include which of the following?

A. Debit to work in process for $41,000

B. Debit to work in process for $43,000

C. Credit to manufacturing overhead for $2,000

D. Debit to manufacturing overhead for $41,000

DM used = Total materials requisitioned — 1D = 43,000 - 2,000 = 41,000
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The journal entry to record the actual manufacturing overhead costs incurred would include which of the
following?
A. Credit to work in process $95,000
B. Credit to manufacturing overhead $93,750
C. Debit to manufacturing overhead $95,000

D. Debit to work in process for $93,750

The journal entry to record the allocation of manufacturing overhead costs incurred would include which
of the following?
A. Debit to work in process inventory for $95,000

B. Debit to work in process inventory for $93,750

C. Credit to manufacturing overhead for $95,000
D. Debit to manufacturing overhead for $93,750
MOH allocated=DL$ x POHR =75,000x 1.25

What is the balance in work in process inventory at December 31, 2009?

A. $15,000 B.$17,000 C. $16,500 D. $15,500

WIP end =WIP beg + TMC — CG complete
=32,000 + (41,000 + 75,000 + 93,750) — 226,750 = 15,000
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Lakeside Company's schedule of cost of goods manufactured showed the following amounts for April:

Cost of goods manufactured $69,300
Direct materials used $27,000
Direct labor ($15 per hour) $30,000
Work in process inventory, April 1 $9,000

Manufacturing overhead is allocated at the rate of $4.00 per direct labor hour. What is the work in

process inventory on April 30th?

A) $11,700 B)$3,300 C) $4,700 D. $2,700

DLH =$ 30,000 /15 = 2000

MOH allocated = 2000 DLH x $4/DLH = $ 8000

WIP end = WIP beg + (DM + DL + MOH allocated) — CGM
=9,000 + (27,000 + 30,000 + 8,000) — 69,300= 4,700

On January 1, 2009, Matthew Company's work in process inventory account had a balance of $30,000.
During 2009, $58,000 of direct materials was placed into production. Manufacturing wages incurred
amounted to $84,000, of which $66,000 were for direct labor. Manufacturing overhead is allocated on
the basis of 120% of direct labor cost. Actual manufacturing overhead was $90,000. Jobs costing
$220,400 were completed during 2009. What is the December 31, 2009, balance in work in process

inventory?

A.$16,800 B. $34,800 C. $6,000 D. $12,800

MOH allocated = 66,000 x 1.2 = 79,200
WIP end = WIP beg + (DM + DL + MOH) — Cost of jobs completed
=30,000 + (58,000 + 66,000 + 79,200) — 220,400 = 12,800
Davie Company used estimated direct labor hours of 180,000 and estimated manufacturing overhead costs of

$990,000 in establishing its 2009 predetermined manufacturing overhead rate. Actual results showed:

Actual manufacturing overhead $950,000

Allocated manufacturing overhead $962,500

What was the number of direct labor hours worked during 2009?

A. 180,000 B. 186,000 C. 192,000 D. 175,000

POHR = Estm MOH/ estm DLH = $ 990,000/ 180,000 DLH=$ 5.5/ DLH
Allocated MOH =POHR x DLH
962,500=5.5xDL DLH =175,000
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Opague Corporation uses a job order costing system. The work in process inventory balance on
December 31, 2009, consists of Job # 120, which has a balance of $19,000. Job # 120 has been charged

with manufacturing overhead of $5,100. Opaque allocates manufacturing overhead at a predetermined

rate of 85% of direct labor cost. What was the amount of direct materials charged to Job # 120?

A) $7,900 B) $7,000 C) $7,565 D) $5,900

Cost of Job # 120 = DM + DL + Allocated MOH
19,000 = DM +(5100/0.85) + 5100
DM =19,000 — 6,000 — 5,100 =7,900

Buncombe Company presents the following cost data for 2009:

Estimated manufacturing overhead costs $240,000
Estimated direct labor cost $300,000
Estimated direct labor hours 30,000
Actual direct labor cost $315,000
Actual direct labor hours 33,000

Allocation base: Direct labor cost

Other expenses:

Factory depreciation on equipment $65,300
Factory rent $51,000
Factory utilities $28,900
Factory property taxes $26,000
Indirect labor $23,800
Indirect materials $32,000
Sales commissions $52,500

What were the total actual manufacturing overhead costs for Buncombe Company in 2009?

A. $227,000 B.$275,500 C. $223,000 D. $197,000

Total actual MOH = 65,300 + 51,000 + 28,900 + 26,000 + 23,800 + 32,000 = 227,000
What is the predetermined manufacturing overhead rate for 2009?
80% of direct labor cost

Manufacturing overhead allocated for 2009 is:

$252,000
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Charleston Corporation's schedule of cost of goods manufactured showed the following amounts for

August, 2009.

Cost of goods manufactured $98,000
Direct materials used $36,000
Direct labor ($20 per hour) $70,000
Work in process, August 1, 2009 $10,000

Manufacturing overhead is allocated at the rate of $8 per direct labor hour.

What is the amount of allocated manufacturing overhead for August 2009?

$28,000

Actual manufacturing overhead for August, 2009 amounts to $30,000. What is the amount of work in
process inventory on August 31, 2009?

$46,000

On January 1, 2009, Jackson Company's work in process inventory account had a balance of $65,000.
During 2009, materials requisitioned for use in production amounted to $70,000, of which $66,000
represented direct materials. Factory wages for the period were $209,000, of which $186,400 were for
direct labor. Manufacturing overhead is allocated on the basis of 60% of direct labor cost. Actual
overhead was $116,440. Jobs costing $353,240 were completed during 2009. The December 31, 2009,
balance in work in process inventory is

$76,000
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Forsyth Company uses estimated direct labor hours of 150,000 and estimated manufacturing overhead costs of

$337,500 in establishing its 2010 predetermined manufacturing overhead rate. Actual results showed:

Actual manufacturing overhead

$346,500

Allocated manufacturing overhead

$343,800

The number of direct labor hours worked during the period was: 152,800

Clyde Company gathered the following information for the year ended December 31, 2009:

Direct labor cost incurred $165,000
Estimated manufacturing overhead costs $231,000
Estimated direct labor cost $3,080,000
Work in process inventory, Dec, 31, 2009 $50,000
Finished goods inventory, Dec. 31, 2009 $65,000
Cost of goods sold $135,000
Estimated direct labor hours 308,000

Clyde Company uses a job costing system.

What would the predetermined manufacturing overhead rate be using direct labor cost as the allocation

base? 7.5%

What would the predetermined manufacturing overhead rate be using direct labor hours as the allocation

base? $.75 per hour

Clyde Company gathered the following information for the year ended December 31, 2009:

Direct labor cost incurred $165,000
Estimated manufacturing overhead costs $231,000
Estimated direct labor cost $3,080,000
Work in process inventory, Dec, 31, 2009 $50,000
Finished goods inventory, Dec. 31, 2009 $65,000
Cost of goods sold $135,000
Estimated direct labor hours 308,000

Clyde Company uses a job order costing system.

Assume that manufacturing overhead is underallocated on December 31,2009, by $17,000. After closing

out manufacturing overhead, what would the balance be in cost of goods sold?

$152,000
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